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FOKREARIEST BF=0IZ, COISLEEHB/OTHELISELE
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fLDEMIZ3E B L THREMIZHIEL TS,

& [RFIRKAL (RFHZEA) (mm)
BAR RFIFEHN (MPa) H 0.6
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X S/CIE 71 (MPa abs) H 0.5
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RFARER 1S5H KE-EHICETH/54A—4

(BE*HE)

FEHAIRICOVTIE, ELZDOROERERDTE

ERIT. BEQHEARBEFHZEATLDLDOLHY. ELAIESN TOEVTEEOHHEHEIRLEFEL TN,
TIUrDRRERET B-DIZ. COLSBEABOTENSEZELISZ T, EHOHBABRNS/ONSEHREEALTELOERITHEBLTREMICHIELTNS,

| &7 =1 L

JI%%”WM& JE%‘}WML A% BT |BZ EBERE DWEH |S/CEH CAMS CAMS CAMS CAMS
H (PRF)(A) | (EAFEHE)(B) E4 (MPa) |[EH (MPa) |(MPa abs) |(MPa abs) D/W(A) [D/W(B) |S/C(A) |S/C(B) |{&&

(mm) (mm) (Sv/h) _[(Sv/h) |(Sv/h) |[(Sv/h)
1/1 5:00 -1820 -0.004 = 0.1070 0.109 1.00E-02 7.21E+00 6.60E-01 6.80E-01
1/1 11:00 -1790 -0.004 — 0.1069 0.115 1.00E-02 7.21E+00 6.60E-01 6.80E-01
1/1 17:00 -1730 -0.004 = 0.1065 0.129 1.00E-02 7.34E+00 6.60E-01 6.80E-01
1/1 23:00 -1730 -0.004 — 0.1060 0.119 1.00E-02 7.22E+00 6.60E-01 6.80E-01
1/2 5:00 -1710 -0.004 = 0.1056 0.127 1.00E-02 7.15E+00 6.60E-01 6.80E-01
1/2 11:00 -1690 -0.004 — 0.1055 0.132 1.00E-02 7.06E+00 6.60E-01 6.80E-01
1/2 17:00 -1680 -0.004 = 0.1053 0.136 1.00E-02 7.04E+00 6.60E-01 6.80E-01
1/2 23:00 -1720 -0.004 — 0.1057 0.135 1.00E-02 7.04E+00 6.60E-01 6.80E-01
1/3 5:00 -1740 -0.004 = 0.1056 0.136 1.00E-02 7.02E+00 6.60E-01 6.80E-01
1/3 11:00 -1740 -0.004 — 0.1057 0.131 1.00E-02 6.95E+00 6.60E-01 6.80E-01
1/3 17:00 -1720 -0.004 = 0.1056 0.134 1.00E-02 6.93E+00 6.50E-01 6.80E-01
1/3 23:00 -1730 -0.004 — 0.1056 0.136 1.00E-02 6.86E+00 6.50E-01 6.80E-01
1/4 5:00 -1710 -0.004 = 0.1054 0.134 1.00E-02 6.86E+00 6.50E-01 6.80E-01
1/4 11:00 -1680 -0.004 — 0.1051 0.134 1.00E-02 6.86E+00 6.50E-01 6.80E-01
1/4 17:00 -1670 -0.004 = 0.1049 0.133 1.00E-02 6.84E+00 6.50E-01 6.70E-01
1/4 23:00 -1720 -0.004 — 0.1052 0.129 1.00E-02 6.81E+00 6.50E-01 6.80E-01
1/5 5:00 -1740 -0.004 = 0.1053 0.127 1.00E-02 6.92E+00 6.50E-01 6.80E-01
1/5 11:00 -1760 -0.004 — 0.1056 0.125 1.00E-02 6.92E+00 6.50E-01 6.80E-01
1/5 17:00 -1780 -0.004 = 0.1059 0.129 1.00E-02 6.89E+00 6.50E-01 6.80E-01
1/5 23:00 -1830 -0.005 — 0.1063 0.122 1.00E-02 7.88E+00 6.60E-01 6.80E-01
1/6 5:00 -1850 -0.005 = 0.1066 0.131 1.00E-02 7.43E+00 6.50E-01 6.80E-01
1/6 11:00 -1850 -0.005 — 0.1070 0.124 1.00E-02 7.76E+00 6.50E-01 6.80E-01
1/6 17:00 -1830 -0.005 = 0.1067 0.125 1.00E-02 6.86E+00 6.50E-01 6.80E-01
1/6 23:00 -1840 -0.005 — 0.1066 0.128 1.00E-02 7.18E+00 6.50E-01 6.80E-01
1/7 5:00 -1870 -0.005 = 0.1069 0.125 1.00E-02 5.78E+00 6.50E-01 6.80E-01
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